Practice 2 Level 1 Algebra 1 End of course STAAR 2019

1. What is the positive solution to
this equation 3x*> —30x = 168 ?

Answer :

2. The graph of a linear function is

shown on the grid:
Ya

Name

Pd: Date :

3. What is the solution to:
6(4r +2)=3(36 - 2r)

Answer :

4. What is the value of x in the
solution to this system of

equations?
— 8 +4y =38
y=4x+15
F. 2.75 H. 4
G. -4 J. —2.75

Which equation is best represented
by this graph ?

A. y+3==(x+3)

B. y+3= j]-(x—S)
C.y-3==@x+8)

D.y-3= j]-(x—S)

5. Which function is equivalent to
y=3(x+2°-18 ?

A. y=3x>+6x-18

B. y=3x>-18
C.y=3x>+12x-6

D. y=3x>-12

6. What is the slope of the graph
y=3=3(+2)?

F. G. - H. 2 J.
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7. Which expression is equivalent
to(12—5n+7Tn*)—(—9—8n+3n?) ?
A. 10n*>+3n+3
B. 4n> — 13n+21
C. 10n* - 13n+3
D. 4n* +3n+21

8. The graph of a quadratic
function is shown on the grid:
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Which function is best represented
by this graph

F. gx)= —x*+7x-6

G. gx)= —x*-7x—-6

H. g(x)= x> +7x+6

J. gx)= x> —Tx+6
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9.Which value of x makes the
equation 15 =3(3x - 2)true?

A.525 B.-2 C.15 D.4

10. A system of equations is
graphed on the grid
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Which system of equations does
the graph represent ?

F. 4x -y =-35 H. x-5y=-23
3x+5y=-9 x+ty=35
G.4x -3y =41 J. x+y=-5

x—y=—11 2x+3y =17

Pd: Date :

11. Which function is equivalent to:
px)=x>—10x+24 ?

A. p(x)=(x—1)(x—-24)

B. p(x) = (x+2)(x+12)

C. p(x)=(x—-3)(x-8)

D. p(x) = (x - 6)(x - 4)

12. Which value of xis a solution to
this equation 3x*> —15x+12=0 ?

A x=4 C. x=-15
B. x=-4 D.x=1.5

13. Which expression is equivalent

7.5
to“bb—f’?

F. b— H. a°p*
G. °b"° J. o

14. Which equation in slope
intercept form that passes through
points (—10,—9) and (15,6)?

A.y=05x-4 C.y=3x+21
B. y=—06x-12 D. y=0.6x-3

15. The graph of a linear function is
shown on the grid.
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What is the rate of change of y with
respect to x for this function?
Answer :

16. The table shows a linear
relationship between x and y.

X -15 | 12 0 5

y | -4 | 28| 2 4

What is the rate of change of y with
respect to x? Answer :



